


Teacher’s Note: You have two card sets to choose from for the chat stations.

The first set of five cards provide the type of reaction and students must solve for the products using the molecular models.

The second set of five cards provides the entire equation and students must determine what type of reaction each equation is and create the products using the molecular models.
Determine the product(s). Use the kit to show the atom configurations. Add responses to your handout.
[bookmark: _heading=h.pc1uzra32w93]

[bookmark: _heading=h.ralu5ejiz2ac]STATION 1: SINGLE REPLACEMENT

Fe + 2CuCl  


Determine the product(s). Use the kit to show the atom configurations. Add responses to your handout.
[bookmark: _heading=h.ahaxh0h469xa]

[bookmark: _heading=h.r27f4cimgrt4]STATION 2: DECOMPOSITION
[bookmark: _heading=h.z1zco9huokhs]
[bookmark: _heading=h.ygwqwvzhtgr6]2CUO  	






Determine the product(s). Use the kit to show the atom configurations. Add responses to your handout.

[bookmark: _heading=h.hlw3hihsd43]
[bookmark: _heading=h.th3n6xi2pzhz]STATION 3: COMBUSTION

CH4 + 2O2 → 								






Determine the product(s). Use the kit to show the atom configurations. Add responses to your handout.
[bookmark: _heading=h.14dizncrpy7l]

[bookmark: _heading=h.26in1rg]STATION 4: DOUBLE REPLACEMENT

NaCl + HBr → 							






Determine the product(s). Use the kit to show the atom configurations. Add responses to your handout.


[bookmark: _heading=h.mc3ygqle8i5g]STATION 5: SYNTHESIS

2H2 + O2 							





[bookmark: _heading=h.d43uo9gj3mw3]
[bookmark: _heading=h.u2ytcga2ajqt]STATION 1

Fe + 2CuCl  	FeCl2 + 2Cu







[bookmark: _heading=h.6is8km70kam4]
[bookmark: _heading=h.632d3p3t6cv9]STATION 2
[bookmark: _heading=h.123woaepbcls]
[bookmark: _heading=h.lkp2hwfrwghm]2CUO  2CU + O2 









[bookmark: _heading=h.b2sgxcjhbgy7]
[bookmark: _heading=h.qsvz371js73r]STATION 3

CH4 + 2O2 → CO2 + 2H2O




[bookmark: _heading=h.72mvz1ya5clt]STATION 4

NaCl + HBr → NaBr + HCl



[bookmark: _heading=h.iq745wrn6508]
[bookmark: _heading=h.25csjjiulcel]STATION 5

2H2 + O2  2H2O



[image: ]				GOODNESS GRACIOUS, GREAT BALLS OF FIRE!
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